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                                                          Abstract 

In this research thesis, we have described some new mathematical connections 
between some equations of the Ramanujan’s manuscripts, the Rogers-Ramanujan 
continued fractions and some sectors of Particle Physics (physical parameters of 
mesons and dilatons, in particular the values of the masses), String Theory and D-
branes.   
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https://www.pinterest.nz/pin/132434045270275344/?autologin=true&nic=1a 

 

 

 

From Ramanujan manuscript books: 

https://twitter.com/aarvee18/status/679181194668326912 

 

 

 

For n = 0.1182, we obtain: 

32*((((((((((((((((42sqrt(5)*0.1182+5sqrt(5)+30*0.1182-1)(1/(8*0.1182))))) / 
(((64)^(0.1182)*(1!)^3)))*((((sqrt(5)-1))/2))^(8*0.1182))))))^(-1)))))) 

Input: 



3 
 

 

 

 
Result: 

 

3.14081…   

 
 
 
 
 
Alternative representations: 

 

  

 

  

 

 

 

 

 
 
Series representations: 
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  

 

  

 

 

 

 
 
Integral representations: 

 

  

 

  
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Note that: 
 

√0.1182
రబవల

= 0.9994788035522   result very near to the value of the following 
Rogers-Ramanujan continued fraction: 
 

 
 
 
 

 

 

355/113 (1-(0.0003/3533)) 

Input: 

 
 
Result: 
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3.14159265358979…. 
 

 

 

 (((3^4+2^4+1/(2+(2/3)^2)))^1/4 

Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
3.1415926525826…. 
 
Alternate form: 
 

 
 
 
All 4th roots of 2143/22: 
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 Polar form 

 
  

 
  

 
  

 
  

 

((((12/(sqrt(190)))) *  ln(3+sqrt(10)) ((sqrt(8)+sqrt(10))))) 

Input: 

 

 
Exact result: 
 

 
Decimal approximation: 
 

 
9.483810831223… 
 
Property: 

 
 
Alternate forms: 
 

 
  
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  

 

 
 
 
Alternative representations: 
 

 
  

 
  

 

 
 
 

  
Series representations: 
 

 
  

 
  
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  
Integral representations: 

 

 

 
 

We note that the sum of the two expression is: 

(((((3^4+2^4+1/(2+(2/3)^2)))^1/4))) +  ((((12/(sqrt(190)))) *  ln(3+sqrt(10)) 
((sqrt(8)+sqrt(10))))) 

Input: 

 

 
Exact result: 

 
Decimal approximation: 
 

 
12.625403483806…. result very near to the black hole entropy 12.5664 
 
Property: 

 
 
Alternate forms: 
 

 
  
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  

 

 
 
Alternative representations: 
 

 
  

 
  

 

 
 
 

  
Series representations: 
 

 
  
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  

 

 
 
 

  
Integral representations: 

 
  

 

 
 

And: 
 
11/10^3 + 1/6((1/4((((((((3^4+2^4+1/(2+(2/3)^2)))^1/4)))+((((12/(sqrt(190)))) *  
ln(3+sqrt(10)) ((sqrt(8)+sqrt(10))))))))))^2 
 
Input: 
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Exact result: 

 
Decimal approximation: 
 

 
1.671425136759…. result practically equal to the value of the formula:             

 

𝑚௣ᇱ = 2 ×
ఎ

ோ
𝑚௉ = 1.6714213 × 10ିଶସ gm              

 
that is the holographic proton mass (N. Haramein) 
 
 
Property: 

 
 
Alternate forms: 
 

 
  

 
  

 
 
 
Alternative representations: 
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  

 
  

 

 
 
 

Series representations: 
 

 
  

 
  
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From: 
 
Modular equations and approximations to 𝝅 - Srinivasa Ramanujan 
Quarterly Journal of Mathematics, XLV, 1914, 350 – 372 
 
We have that: 
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From the following vacuum equations concerning the Brane Supersymmetry 
Breaking, we can to obtain, putting 
 

  instead of  

                                         
a news possible mathematical solutions that are very near to the originals.   
 
 
From: 
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An Update on Brane Supersymmetry Breaking 
J. Mourad and A. Sagnotti - arXiv:1711.11494v1 [hep-th] 30 Nov 2017 
  

           
 

       
  
 

              
 
 
 
 
 

With , for 

 

 

we obtain: 

((-(-1/2*0.02390591^2)/(2.5)))* 4096*e^(-Pi*sqrt(18)) 

Input interpretation: 

 

 
Result: 

 

7.61802….*10-7 

 
 
Series representations: 
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  

 

  

 

 

 

 

 

 

 

With  , for 

 

 

We obtain: 

 

1/2*(((((0.02390591^2((((5+1-(2*1/2)/2.5)))* 4096*e^(-Pi*sqrt(18)) 

Input interpretation: 
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Result: 

 

Result: 
 

1.066522… * 10-5 
 
Series representations: 

 

  

 

  

 

 

 

 

 

 

 

With , for 
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we obtain: 

exp(-2)+(((0.02390591^2/(16*6)))*((7-5+(2*1/2)/2.5))* 4096*e^(-Pi*sqrt(18)) 
 
Input interpretation: 

 

 
Result: 

 

0.13533537… 
 
Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

  

 

 

 

 
 
 
We have obtained, putting 
 

  instead of  

                                         
also a new possible mathematical connection between the two exponentials. Thence, 
also the values concerning p, C, βE and 𝜙 correspond to the exponents of e (i.e. of 
exp). Thence we can to obtain for p = 5 and βE = 1/2: 
 

𝑒ି଺஼ାథ = 4096𝑒ିగ√ଵ଼ 
 
With respect to the exponential of the vacuum equation, the Ramanujan’s exponential 
has a coefficient of 4096 which is equal to 642, while -6C+𝜙 is equal to -𝜋√18. From 
this it follows that it is possible to establish mathematically, the dilaton value. 
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We obtain: 
 
exp((-Pi*sqrt(18)) 
 
Input: 

 

 
Exact result: 

 

Decimal approximation: 
 

1.6272016… * 10-6 
 
Property: 

 

 
Series representations: 

 

  

 

  
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Now: 
 
 

𝑒ି଺஼ାథ = 4096𝑒ିగ√ଵ଼  
 
 

𝑒ିగ√ଵ଼ = 1.6272016… * 10-6 
 

ଵ

ସ଴ଽ଺
𝑒ି଺஼ାథ = 1.6272016… * 10-6 

 

0.000244140625  𝑒ି଺஼ାథ = 𝑒ିగ√ଵ଼ = 1.6272016… * 10-6 
 
 
We have that: 
 

lnቀ𝑒ିగ√ଵ଼ቁ = −13.328648814475 = −𝜋√18  

 
and: 
 
(1.6272016* 10^-6) *1/ (0.000244140625) 
 
Input interpretation: 

 
 
Result: 

 
0.006665017... 
 
Thence: 
 

0.000244140625  𝑒ି଺஼ାథ = 𝑒ିగ√ଵ଼  
 
Dividing both sides by 0.000244140625, we obtain: 
 

   
଴.଴଴଴ଶସସଵସ଴଺ଶହ

଴.଴଴଴ଶସସଵସ଴଺ଶହ
𝑒ି଺஼ାథ = 

ଵ

଴.଴଴଴ଶସସଵସ଴଺ଶହ
𝑒ିగ√ଵ଼  

 
𝑒ି଺஼ାథ = 0.0066650177536 
 
and: 
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((((exp((-Pi*sqrt(18)))))))*1/0.000244140625 
 
Input interpretation: 

 

 
Result: 

 

0.00666501785… 

 
Series representations: 

 

  

 

  

 

 

 

 

 

 

 
 
 
𝑒ି଺஼ାథ = 0.0066650177536 
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 = 
 

 
 
= 0.00666501785… 

Now, we have that: 

ln(0.00666501784619) 

Input interpretation: 
 

 

 
Result: 

 

-5.010882647757… 

 
 
Alternative representations: 

 

  

 

  

 

 

 

 
 
Series representations: 

 

  



25 
 

 

  

 

 

 

 

 
 
 
 
Integral representation: 

 

 
Now: 

 −6𝐶 + 𝜙 = −5.010882647757 …  

for C = 1, we obtain: 

𝜙 = −5.010882647757 + 6 = 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

Indeed, if we put this value of dilaton in the previous three vacuum equations, we 
obtain the following values: 

((-(-1/2*0.02390591^2)/(2.5)))*exp(-2*3+2*1/2*0.989117352243) 

Input interpretation: 
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Result: 
 

7.61802... * 10-7 

 

1/2*(((((0.02390591^2((((5+1-(2*1/2)/2.5)))*exp(-2*3+2*1/2*0.989117352243))))) 

Input interpretation: 

 
 
Result: 

 
Result: 

 
1.066522... * 10-5 

 

exp(-2)+(((0.02390591^2/(16*6)))*((7-5+(2*1/2)/2.5))* exp(-
2*3+2*1/2*0.989117352243))))) 

Input interpretation: 

 
 
Result: 

 
0.1353353... 

Results practically equal to the previous, as was to be expected 

 

We note that from the inverse, multiplying by 7/32, we obtain: 

7/32 * 1/(((((exp(-2)+(((0.02390591^2/(16*6)))*((7-5+(2*1/2)/2.5))* exp(-
2*3+2*1/2*0.989117352243)))))))) 

Input interpretation: 

 



27 
 

 
Result: 

 
1.61635488... result practically equal to the value without exponent of the Planck 
length  

 

The dilaton value obtained 

𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

we note that is very near to the result of the following mean of these Rogers-
Ramanujan continued fractions: 
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Indeed: 
 
1/4*(1.0018674362 + 1.0000007913 + 0.9568666373 + 0.9991104684) = 
 
= 0.9894613333  result very near to the dilaton value 
 
 
From: 
 

 
 
1/(cosh((((Pisqrt(3)))/2))) - 1/(3cosh((((3Pisqrt(3)))/2))) + 
1/(5cosh((((5Pisqrt(3)))/2))) - 1/(7cosh((((7Pisqrt(3)))/2)))   
 
Input: 

 

 

 
Exact result: 
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Decimal approximation: 
 

0.13089969389… ≅
గ

ଶସ
 

 
Property: 

 

 
Alternate forms: 

 

  

 

  

 

 
 
Alternative representations: 

 

  
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  

 

 

 

 
 
Series representations: 

 

  

 

  

 

 
Integral representation: 
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1/(cosh((((Pi/((2sqrt(3)))))))) - 1/(3cosh((((3Pi/((2sqrt(3)))))))) + 
1/(5cosh((((5Pi/((2sqrt(3)))))))) - 1/(7cosh((((7Pi/((2sqrt(3))))))))    
 
Input: 

 

 

Exact result: 

 

 

Decimal approximation: 
 

0.6544425111…. ≅
ହగ

ଶସ
 

 
Alternate forms: 

 

  

 

  
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Alternative representations: 

 

  

 

  

 

 

 

 
 
Series representations: 

 

  

 

  
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Integral representation: 

 

And: 
 
1/(cosh((((Pi/((2sqrt(3)))))))) - 1/(3cosh((((3Pi/((2sqrt(3)))))))) + 
1/(5cosh((((5Pi/((2sqrt(3)))))))) - 1/(7cosh((((7Pi/((2sqrt(3)))))))) +  
1/(9cosh((((9Pisqrt(3)))/2))) 
 
Input: 

 

 

 
Exact result: 

 

 

Decimal approximation: 
 

0.6544425111… as above 
 
Alternate forms: 
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  

 

  

 

 
Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

  

 

 
 
Integral representation: 

 

 
 
 
1/(cosh((((Pi/((2sqrt(3))))))))-
1/(3cosh((((3Pi/((2sqrt(3))))))))+1/(5cosh((((5Pi/((2sqrt(3))))))))-
1/(7cosh((((7Pi/((2sqrt(3))))))))+ 1/(9cosh((((9Pi/((2sqrt(3))))))))-
1/(11cosh((((11Pisqrt(3)))/2))) 
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Input: 

 

 
 
 
 
 
Exact result: 

 

 
Decimal approximation: 

 
0.654505903…. as above 
 
Note that: 
 
(5Pi/24-Pi/24)^1/64 
 
Input: 

 

 
Exact result: 

 

Decimal approximation: 
 

0.989941095… 
 
Property: 
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All 64th roots of π/6: 

 

  

 

  

 

  

 

  

 

  
Alternative representations: 

 

  

 

  

 

 

 

 

 
 
Series representations: 
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  

 

  

 

 
 
Integral representations: 

 

  

 

  

 

 
 
Now, we obtain: 
 
Input: 
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Exact result: 

 

 

Decimal approximation: 
 

1.672442511… result very near to the proton mass without exponent 
 
Alternate forms: 

 

  

 

  

 

 
 
Alternative representations: 
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  

 

  

 

 

 

 
 
-(29/10^3+7/10^3)+1+1/(cosh((((Pi/((2sqrt(3)))))))) - 1/(3cosh((((3Pi/((2sqrt(3)))))))) 
+ 1/(5cosh((((5Pi/((2sqrt(3)))))))) - 1/(7cosh((((7Pi/((2sqrt(3)))))))) +  
1/(9cosh((((9Pisqrt(3)))/2))) 
 
Input: 
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Exact result: 

 

 

Decimal approximation: 
 

1.6184425111… 
 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 
 
 
Alternate forms: 

 

  

 

  

 

 
Alternative representations: 
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  

 

  

 

 

 

 
 
 
64/10^3+ sqrt2/(cosh((((Pi/((2sqrt(3)))))))) - sqrt2/(3cosh((((3Pi/((2sqrt(3)))))))) + 
sqrt2/(5cosh((((5Pi/((2sqrt(3)))))))) - sqrt2/(7cosh((((7Pi/((2sqrt(3)))))))) + 
sqrt2/(9cosh((((9Pisqrt(3)))/2))) 
 
Input: 
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Exact result: 

 

 
Decimal approximation: 

 
0.9895214….  

We note that this value is very near to the result of the following mean of these 
Rogers-Ramanujan continued fractions: 
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Indeed: 
 
1/4*(1.0018674362 + 1.0000007913 + 0.9568666373 + 0.9991104684) = 
 
= 0.9894613333  result very near to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

(also the various results signed in red, are very near to the dilaton value) 
 
 
 
Now: 
 

 
 
((2))^(1/4) * (34)^1/24 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 
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1.377428677… 
 
 

 
 
((2))^(1/4) * (154+6sqrt(645))^1/24 
 
Input: 

 
 
Decimal approximation: 

 
1.50956475612… 
 
Alternate form: 

 
  

Minimal polynomial: 
 

 

 

 
 
((2))^(1/4) * (2764)^1/24 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
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1.65445484015…. is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 
 
2^1/4 * (34)^1/24 + 2^1/4 * (154+6sqrt(645))^1/24 + 2^1/4 * (2764)^1/24 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 

 
4.5414482734… 
 
Alternate forms: 

 
  

 
  

 
 
((((((2)^(1/4) * (34)^1/24 + (2)^(1/4) * (154+6sqrt(645))^1/24 + (2)^(1/4) * 
(2764)^1/24)))))^1/3 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 
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1.6560169996…. is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 
 
Alternate form: 

 
 
 
(5^2/10^3)+sqrt(11)*(((((1/(((2)^(1/4) * (34)^1/24)) * 1/ 
(((((2)^(1/4)))*(((154+6sqrt(645))^1/24))))  *1 /((((2)^(1/4) * (2764)^1/24)))))))) 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 

 
0.989096613…  
 
We note that this value is very near to the result of the following mean of these 
Rogers-Ramanujan continued fractions: 
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Indeed: 
 
1/4*(1.0018674362 + 1.0000007913 + 0.9568666373 + 0.9991104684) = 
 
= 0.9894613333  result very near to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 
Alternate forms: 
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  

 
  

 
 
Considering the 𝜒 within the roots, we obtain the following Corollary: 
 
2^1/4 * (34x)^1/24 + 2^1/4 * ((154+6sqrt(645))x)^1/24 + 2^1/4 * (2764x)^1/24 
 
Input: 

 

 
Exact result: 

 

Plots: 

 

  

 

  
Alternate forms: 
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  

 

  
Integer root: 

 Step-by-step solution 

 

  
Properties as a real function: 

Domain 

 

  
Range 

 

  
Injectivity 

 

 

Derivative: 

 

  
Indefinite integral: 

 

  
Global minimum: 
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From the result of the above integral, we obtain: 
 

 
 
Input: 

 

 
 
Exact result: 

 

Plots: 

 

  

 

  
Alternate form: 



52 
 

 

Expanded form: 

 

Numerical root: 
 

  
Integer root: 

 

  
Properties as a real function: 

Domain 

 

  
Range 

 

  
Injectivity 

 

 

Derivative: 

 

  
Indefinite integral: 
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From the numerical root 
 

 
 
we obtain, after some calculations: 
 
1-(((-3.2768e-12 + (5.67558e-12i))))^1/6 
 
Input interpretation: 

 

 
 
Result: 

 
Polar coordinates: 

 
0.987156 result very near to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 
 
For x = 4𝜋/(144+11) where 144 is a Fibonacci number and 11 is a Lucas number, we 
obtain: 
 
24/25 2^(7/24) (17^(1/24) + 1382^(1/24) + (77 + 3 sqrt(645))^(1/24)) 
(4Pi/(144+11))^(25/24) 
 
Input: 

 

 
Exact result: 

 

Decimal approximation: 
 

0.31833204639…. ≅
ଵ

గ
 

 
Property: 
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  
Alternate forms: 

 

 

 
Series representations: 

 

  

 

  
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For x = 24𝜋/(313) = 0.240888893565990, where 313 = 322-7-2 (Lucas numbers) 

24/25 2^(7/24) (17^(1/24) + 1382^(1/24) + (77 + 3 sqrt(645))^(1/24)) ((24Pi)/(322-7-
2))^(25/24) 
 
Input: 

 

 
Exact result: 

 

Decimal approximation: 
 

0.9897482615…. result very near to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 
 
Property: 
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  
Alternate form: 

 

 
Series representations: 

 

  

 

  
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Furthermore, we note that, for x = 0.233, sub-multiple of Fibonacci number 233, we 
obtain: 

24/25 2^(7/24) (17^(1/24) + 1382^(1/24) + (77 + 3 sqrt(645))^(1/24)) 
((0.233))^(25/24) 

Input: 

 
 
Result: 

 
0.95600762483.... result very near to the value of the following Rogers-Ramanujan 
continued fraction: 

 

 

On the Dilaton 
 
From: 
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Scale-invariant alternatives to general relativity. III.The inflation–dark-energy 
connection 
Santiago Casas, Georgios K. Karananas, Martin Pauly, Javier Rubio 
arXiv:1811.05984v2 [astro-ph.CO] 18 Mar 2019 
 
We have that: 
 

 
For  
 

 
 
We obtain: 1 – 2 /60 = 1 – 0.03333333333333333333333333333333 =  
                                  = 0.96666666666666666666666666666667  = ns; 
 
and 
 
8 / 60 = 0.13333333333333333333333333333333 = r; 
 
Now, we note that:  r / ns = 0.13793103448275862068965517241379; the 64th root of 
this result is: 
 
Input interpretation: 

 
 
 
Result: 

 
0.969520996.... value very near to ns. 
 
 
From: 
 
Scalaron the healer: removing the strong-coupling in the Higgs- and Higgs-
dilaton inflations 
Dmitry Gorbunov, Anna Tokareva 
arXiv:1807.02392v2 [hep-ph] 10 Dec 2018 
 
We have that: 
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We have, from the eq. (15) that: 
 
ns = 1 – 2 / 60 = 1 – 0.03333333333333333333333333333333 =  
                                  = 0.96666666666666666666666666666667 ; 
 
r = 12/ 3600 = 0,00333333333333333333333333333333   
 
We note that:  r / ns = 0,00344827586206896551724137931034 ;  the 256th root of 
this result, is equal to: 
 
(0.0034482758620689655)^1/256 
  
Input interpretation: 

 
 
Result: 

 
0.9780954932486.... value very near to ns 
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Now, we have that: 
 

 
From eq. (19), we obtain: 
 
1– 8*0.004 coth(4*60*0.004) = ns 
 
Input: 

 

 

 
Result: 

 

0.95700524710189…. = ns 
 
 
Percent decrease: 

 

  
Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

  

 

 
 
Integral representation: 

 

 

 
 
From: 
 
Astronomy & Astrophysics manuscript no. ms c ESO 2019 - September 24, 2019 
Planck 2018 results. VI. Cosmological parameters 
 
The primordial fluctuations are consistent with Gaussian purely adiabatic scalar 
perturbations characterized by a power spectrum with a spectral index ns = 0.965 ± 
0.004, consistent with the predictions of slow-roll, single-field, inflation. 
 
Now, we have, from: 
 
Dilatonic Inflation and SUSY Breaking in String-inspired Supergravity 
Mitsuo J. Hayashi, Tomoki Watanabe, Ichiro Aizawa and Koichi Aketo 
arXiv:hep-ph/0303029v3 12 Nov 2003 
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The value of the scalar potential is  - 9.3 * 10-13  
 
Now: 
 

 
 

 
 

 
 
From eq. (26), we obtain that the density perturbation caused by slow-rolling dilaton 
is equal to  ≈ 2.1 * 10-9  and the energy scale is V ≈ 10-10 . We note that, considering - 
9.3 * 10-13 as energy and c2 = 9 * 1016, we obtain the following mass:  
 
(-9.3*10^-13 / 9*10^16) 
 
Input interpretation: 
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Result: 
 

-1.0333333333333333333333333333…* 10-29 
 
And the inverse (putting the minus sign): 
 
-1/ (-9.3*10^-13 / 9*10^16) 
 
Input interpretation: 

 
 
Result: 

 
Repeating decimal: 

 
0.967741935483870 * 1029  
 
Or: 
 
(-9.3*10^13 / 9*10^16) * 10^4 
 
Input interpretation: 

 
 
Result: 

 
 
Repeating decimal: 

 
-10.33333333..... 
 
And the inverse, (with minus sign): 
 
-1 / (-9.3*10^13 / 9*10^16) * 10^4 
 
Input interpretation: 
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Result: 
 

9.677419… * 106 
 
Repeating decimal: 

 
Input interpretation: 

 
 

0.967741935483870 * 107 GeV  (1/m) 
0.967741935483870 * 104 TeV  
 
We note also that: 
 

 
 
For the previous equation, we have that: 
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 ns = 1 – 2 / N = 1 – 2 / 57 = 0,9649122807017543859649122807017 ≈ 0.965... 
 
For: 
 

 
 
We obtain, for c = 2 and κ =3: 
 
(((1-4*2-2*sqrt(4*2^2-2*2-2*3)))/((1+8*3)) 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
-0.475959179422…. 
 
Alternate forms: 
 

 
  

 
  

Minimal polynomial: 
 

  
For  c = 3 and κ =5: 
 
(((1-4*3-2*sqrt(4*3^2-2*3-2*5)))/((1+8*5)) 
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Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
-0.4864456563414… 
 
Alternate forms: 
 

 
  

 
  

Minimal polynomial: 
 

  
 
For  c = 5 and κ =8: 
 
(((1-4*5-2*sqrt(4*5^2-2*5-2*8)))/((1+8*8)) 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
-0.5569946236… 
 
Alternate forms: 
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  

 
  

Minimal polynomial: 
 

 
.......... 
 
For  c = 144 and κ =233: 
 
 
(((1-4*144-2*sqrt(4*144^2-2*144-2*233)))/((1+8*233)) 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
-0.6157511889582… 

 

Alternate forms: 
 

 
  

 
  

Minimal polynomial: 
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And for  c = 121393 and κ =196418: 
 
 
(((1-4*121393-2*sqrt(4*121393^2-2*121393-2*196418)))/((1+8*196418)) 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 
 

 
-0.61803129291082..... 
 
 
Where 2, 3, 5, 8, 144, 233, 121393 and 196418 are Fibonacci numbers  
 
And for  c = 843 and κ =1364: 
 
 
(((1-4*843-2*sqrt(4*843^2-2*843-2*1364)))/((1+8*1364)) 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
-0.6176469304539…. 
 
Alternate forms: 
 

 
  
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  

Minimal polynomial: 
 

 
 
And for  c = 103682 and κ =167761: 
 
 
(((1-4*103682-2*sqrt(4*103682^2-2*103682-2*167761)))/((1+8*167761)) 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
-0.61803083249899823…… 

  
Alternate forms: 

  

 
  

 
  

Minimal polynomial: 
 

  
 
Where 843, 1364, 103682 and 167761 are Lucas numbers. We note that, increasing 
the values of c and κ  (inserting Fibonacci or Lucas numbers), the function tends to 
the reciprocal of the golden ratio and the inverse function to the golden ratio itself! 
Indeed, for example, we have also that: 
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-1/ (((1-4*121393-2*sqrt(4*121393^2-2*121393-2*196418)))/((1+8*196418)) 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 
 

 
1.618041046579…. 
 
And: 
 
-1 / (((1-4*103682-2*sqrt(4*103682^2-2*103682-2*167761)))/((1+8*167761)) 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
1.6180422519642188….. 
 
Alternate forms: 

  

 
  

 
  
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  
Minimal polynomial: 

 
  

 
For the following numbers: 196884, 21493760, 864299970, 20245856256, 
333202640600, that are some coefficients of modular function j, we have that: 
 
-1/(((1-4*196884-2*sqrt(4*196884^2-2*196884-2*21493760)))/((1+8*21493760)) 
 
Input: 

 
 Open code 

Result: 

 
 
Decimal approximation: 
 

 
109.17737… 
 
Alternate forms: 

  

 
  

 
  

 
  

Minimal polynomial: 
 

 
-1/(((1-4*21493760-2*sqrt(4*21493760^2-2*21493760-
2*864299970)))/((1+8*864299970)) 
 
Input: 
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  

Result: 

 
Decimal approximation: 
 

 
40.21167921761…. 
Alternate forms: 
 

 
  

 
  

 
  

Minimal polynomial: 
 

  
 
-1/(((1-4*86429970-2*sqrt(4*86429970^2-2*86429970-
2*20245856256)))/((1+8*20245856256)) 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 
 

 
234.2458660297… 
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-1/(((1-4*20245856256-2*sqrt(4*20245856256^2-2*20245856256-
2*333202640600)))/((1+8*333202640600)) 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
16.457819142…. 
 
Alternate forms: 
 

 
  

 

 
  

Minimal polynomial: 
 

  
 
In this case, we get values that are different every time with regard to the inverse 
function:  109.17737,    40.21167,    234.2458,   16.4578  . Performing the following 
calculation on these values, we get:  
 
(109.17737 *1/40.21167 * 1/234.2458 * 1/16.4578)^1/256 
 
Input interpretation: 

 
 
Result: 
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0.9720452275765.... 
 
 
Regarding instead the results that provide the conjugate of the golden ratio and the 
golden ratio itself, we have the following interesting ratios: 
 
(1.618041046579  *1 /1.6180422519642188) 
 
Input interpretation: 

 
 
Result: 
 

 
0.9999992550347697…. 
 
And: 
 
1/ (1.618041046579  *1 /1.6180422519642188) 
 
Input interpretation: 

 
 
Result: 
 

 
1.000000744965…. result that is very near to the following Rogers-Ramanujan 
continued fraction: 
 
 

 
 
 
Thence the ΘE-field   
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can take the following values: 
 
-0.475959179422….;  -0.4864456563414…; -0.5569946236…; -0.6157511889582; 
 

-0.61803129291082...;  -0.6176469304539….; -0.61803083249899823...; 
 

and the inverse of the ΘE-field :  1.618041046579;  1.6180422519642188 
 

for c and κ  equal to Fibonacci or Lucas numbers 

The inverse of the ΘE-field  takes the following values for c and κ  equal to numbers 
corresponding to coefficients of modular function j 
 
109.17737…;   40.21167921761….;   234.2458660297…;   16.457819142…. 
 

Thus, for the Fibonacci or Lucas numbers, the ΘE-field  tends to the reciprocal of the 
golden section and its inverse to the golden ratio itself. Moreover, the inverse of the 
result ratios which are all close to the value of the golden ratio, provides a value very 
close to a result of a Rogers-Ramanujan continued fraction. As for the numbers of the 
modular function j, the 256th root of the result ratios provides a value very close to 
that of ns which is also very close to a result of a Rogers-Ramanujan continued 
fraction. Indeed: 

0.9720452275765.... is very near to the following Rogers-Ramanujan continued 
fraction: 
 

 
 
 

The value of the dilatonic field could very well be the average of these two results: 
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1.000000744965….  and  0.9720452275765....   

Indeed, we have that: 

(1.000000744965 + 0.9720452275765)/2 

Input interpretation: 

 
Result: 

 
0.98602298627075 result very near to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 
This value is also very close to ns and also to the Regge slope of the J/Ψ meson 
 
The dilaton value in kg is:  
 
Input interpretation: 

 
 
Result: 

 
1.76326183987 * 10-27 kg 
 
Inserting the value of the dilaton mass 1.763262e-27 in the Hawking radiation 
calculator, we obtain: 
 
Mass = 1.763262e-27 
 
Radius = 2.618182e-54 
 
Temperature = 6.959847e+49 
 
Entropy = 3.581180e-38 
 
From the Ramanujan-Nardelli mock formula, we obtain: 

 
sqrt[[[[1/(((((((4*1.962364415e+19)/(5*0.0864055^2)))*1/(1.763262e-27)* sqrt[[-
((((6.959847e+49 * 4*Pi*(2.618182e-54)^3-(2.618182e-54)^2))))) / ((6.67*10^-
11))]]]]] 
 
Input interpretation: 
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Result: 

 
1.618249323… 
 
And: 
 
1/sqrt[[[[1/(((((((4*1.962364415e+19)/(5*0.0864055^2)))*1/(1.763262e-27)* sqrt[[-
((((6.959847e+49 * 4*Pi*(2.618182e-54)^3-(2.618182e-54)^2))))) / ((6.67*10^-
11))]]]]] 
 
Input interpretation: 

 
 
Result: 

 
0.617951749… 
 
 
 
 
 
 
 
From: 
 
Rotating strings confronting PDG mesons 
Jacob Sonnenschein and Dorin Weissman - arXiv:1402.5603v1 [hep-ph] 23 Feb 2014 
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where α’ is the Regge slope (string tension) 
 
We know that: 
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and we know also that  mesons have integer spin (thus are bosons). Now, we have 
that: 
 
 
(((((3778.10 + 3510.67  + 3096.916)/3))))1/4096 =   
 
(((((3778.10 + 3510.67  + 3096.916)/3))))^1/(64)^2  
 
Input interpretation: 

 
 
Result: 

 
1.00199162213... MeV 
 
And that: 
 
1/  (((((3778.10 + 3510.67  + 3096.916)/3))))^1/(64)^2  
 
Input interpretation: 

 
 
 
 
Result: 

 



80 
 

0.99801233654449....MeV 
 
We know also that: 
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The average of the various Regge slope of Omega mesons are: 
 
0,91   +   0,918   +   0,988   +   1,18   +   0,937   +   1 =  5,933   ÷   6 =  
 
= 0,988833333333... = α’ of Omega meson. 
 
The masses are 782.65 – 1667 – 1670, thence the average is: 1373.216666 MeV 
 
 
Thence, we obtain: 
 
1/(((((782.65 +1667 +1670)/3))))^1/192  
 
Input interpretation: 

 
 
Result: 

 
0.96306945537.... MeV 
 
 
(((((782.65 +1667 +1670)/3))))^1/192 
 
Input interpretation: 

 
 
Result: 

 
1.038346709494..... MeV  
 
 
From: 
 
Dilatonic Dark Matter – A New Paradigm – 
Y. M. Cho - arXiv:hep-ph/9810379v1 16 Oct 1998 
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We have that, from the average between 0.25 keV and 270 MeV: 
 
(5×10^-4 + 270)/2 
 
Input interpretation: 

 
 
Exact result: 

 
Decimal form: 

 
135.00025 MeV that is the energy corresponding to the dilaton mass of 270 MeV 
 
We calculate the 2048th root and obtain: 
 
(((((5×10^-4 + 270)/2)))^1/2048 
 
Input interpretation: 
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Result: 

 
Decimal approximation: 

 
1.002398025… result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 
From this result, we obtain also: 
 
Input interpretation: 

 
 
Result: 

 
270.0004999.... MeV  
 
And: 
 
1/(1.002398025278868479642904126352887247248168195752770436486) 
 
Input interpretation: 

 
 
Result: 

 
0.9976077114… 
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Possible closed forms: 

 

 

 

 
 
 
 
Further: 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 

 
1.0037037… MeV 
 
And: 
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 

 
0.99630996…. MeV   result very near to the value of the following Rogers-
Ramanujan continued fraction: 
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From the mass equal to 1024 MeV (very near to Phi meson mass 1019 MeV, and 
where 1024 = 64 * 16 = 4096/4), we obtain: 
 
Input: 

 
Exact result: 
 

 
Decimal form: 

 
1.0009765625 
 
and also practically the value of above continued fraction: 
 
1/(1+1/1024)      
 
Input: 

 
 
Exact result: 

 
Decimal approximation: 

 
0.9990243902… 
 
We note that: 
 
1024 MeV  where 
 
Input interpretation: 
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And that: 

 

1/ 1.024 

Input: 

 

 
Result: 

 

0.9765625 

  
Rational form: 

 

  
Possible closed forms: 
 

 

 

 

 

 
0.9765625…  result practically equal to the following  Regge slope meson 
 

 

 
 
    α’ = 0.979 
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In conclusion, the mass of the dilaton can be ≈ 1 GeV, precisely 1.024 GeV , very 
near to the mass of Phi meson 
 
 
 
From: 
 
Ramanujan Lost Notebook part V 
 

 
 
The 5th root of unity is, by definition, the roots of the polynomial x5=1. 
As we can see there is only one real soulution, and all of the soulutions are given 
below: 

1. 1 
2. cos(2π/5)+i×sin(2π/5) 
3. cos(4π/5)+i×sin(4π/5) 
4. cos(6π/5)+i×sin(6π/5) 
5. cos(8π/5)+i×sin(8π/5) 

 

 
For q = 0.5, and cos(8π/5)+i×sin(8π/5),  we obtain: 
 
cos(8π/5)+i×sin(8π/5) * sum (-1^n*0.5^((n(3n+1)/2)))/(((((1-
(cos(8π/5)+i×sin(8π/5))0.5^n))))), n=0..8989 
 
Input interpretation: 

 

 
 
Result: 

 
 
Result: 
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Polar coordinates: 
 

1.28998 
 
(1.08563 + 0.696745 i)^2 
 
Input interpretation: 

 

 
 
Result: 

 
Polar coordinates: 

 
 

1.66405 is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 
1/ (((((((((1.08563 + 0.696745 i)^2))))^1/(64^2))))) 
 
Input interpretation: 

 

 
 
Result: 

 
Polar coordinates: 

 
0.999876 
 
And, multiplying by 1/2: 
 
1/2 * (((((cos(8π/5)+i×sin(8π/5) * sum (-1^n*0.5^((n(3n+1)/2)))/(((((1-
(cos(8π/5)+i×sin(8π/5))0.5^n))))), n=0..8989))))) 
 
Input interpretation: 
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Result: 

 
 
Result: 

 
 
Polar coordinates: 

 
0.644989 
 
And: 
 
1+0.644989 
 
Input interpretation: 

 
 
Result: 

 

1.644989 ≈ ζ(2) = 
గమ

଺
= 1.644934 …  

 
 
For q = 0.8, we obtain: 
 
cos(8π/5)+i×sin(8π/5) * sum (-1^n*(0.8)^((n(3n+1)/2)))/(((((1-
(cos(8π/5)+i×sin(8π/5))*(0.8^n)))))), n=0..8989 
 
Input interpretation: 

 

 
 
Result: 
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Result: 

 
 
Polar coordinates: 

 
1.84507 
 
 
1/(1.506 + 1.06595 i)^1/64 
 
Input interpretation: 

 

 
 
Result: 

 
Polar coordinates: 

 
0.990475 
 
 
 
 
From: 
 
Thermodynamics of 4D Dilatonic Black Holes and 
the Weak Gravity Conjecture 
Gregory J. Loges, Toshifumi Noumi and Gary Shiu - arXiv:1909.01352v1 [hep-th] 3 
Sep 2019  
 
We have that: 
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We have:   λ2 = 1.5;   λ = √1.5 = 1.224744871… 
 

 
From 
 
Decays of the f0(1370) scalar glueball candidate 
Ugo Gastaldi - 2-6 July 2018 Montpellier – Fr 
 
we have: 
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PxDBR f0(1370)→ π+π- 
 
 
From: 
 
https://www.semanticscholar.org/paper/A-study-in-depth-of-f0(1370)-
Bugg/65153a0c27229221d3473e66a1facab06f09e827 
 

 
Table 3. Parameters fitting m(s) in units of GeV  
 
For :    

                                                        
 
We put λ = 1.3 and M = 1.3150 GeV, corresponding to the mass of scalar glueball 
candidate f0(1370) meson, and obtain: 
 
 
 
1.3/(1.3150) 
 
Input interpretation: 
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Result: 
 

 
0.9885931… GeV 
 
 
With regard   PxDBR f0(1370)→ π+π-, from the calculations on the following Rogers-
Ramanujan continued fractions: 
 

    
 
 

 
 

 
 
 
 
We obtain: 
 
0.9568666373 + 0.9991104684 =  1.9559771057; 
 
 (1.9559771057)7 = 109.5333499...;  
 
(2,0663656771)7 = 160.860811889... 
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From the average of the two result, we obtain the mass of the Pion meson 𝜋଴: 
 
(109.5333499 + 160.860811889)/2 
 
Input interpretation: 

 
 
Result: 

 
135.1970808945 result very near to the rest mass of the Pion meson 134.9766 
 
 
From: 
 
ASYMPTOTIC FORMULAS FOR TWO CONTINUED 
FRACTIONS IN RAMANUJAN’S LOST NOTEBOOK 
Bruce C. Berndt and Jaebum Sohn 
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We obtain: 
 
((gamma(1/3)/gamma(2/3)))*exp(((1/108*(1/12)^2+1/4320*(1/12)^4+1/38880*(1/12
)^6))) 
 
Input: 

 

 

 
Exact result: 

 

Decimal approximation: 
 

1.97849149547619… 
 
Alternate forms: 
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  

 

 

 
 
Alternative representations: 

 

  

 

  

 

 

 

 
 
Series representations:

 
  
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  

 

  

 

 

 

 

 
 
Integral representations: 

 

  
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  

 

 

 
 
 
 
((gamma(1/6)/gamma(5/6)))*exp(((1/108*(1/12)^2+1/4320*(1/12)^4+1/38880*(1/12
)^6))) 
 
Input: 

 

 

 
Exact result: 

 

Decimal approximation: 

 

4.9315538222834… 
 
Alternate forms: 
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Alternative representations: 

 

  

 

  
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Series representations: 
 

 

  

 

  

 

  
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Integral representations: 
 

 

  

 

  

 

 

 
 
 
((gamma(1/4)/gamma(3/4)))*exp(((1/108*(1/12)^2+1/4320*(1/12)^4+1/38880*(1/12
)^6))) 
 
Input: 
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Exact result: 

 

Decimal approximation: 
 

2.95886540238896… 
 
Alternate forms: 

 

 

 

 

 

 
 
Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

  

 

  
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Integral representations: 

 

  

 

  

 

 

 
 
 
((((gamma(1/7)gamma(2/7)gamma(4/7)))/(((gamma(3/7)gamma(5/7)gamma(6/7))))))
*exp(((1/108*(1/12)^2+1/4320*(1/12)^4+1/38880*(1/12)^6))) 
 
Input: 

 

 

 
Exact result: 
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Decimal approximation: 
 

11.01790143176059… 
 
Alternate form: 

 

 

 

Alternative representations: 

 

  

 

  
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Integral representations: 

 

  

 

  
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From these results: 
 
11.01790143176059;    2.958865402388967;   4.931553822283411;  
 
1.978491495476199   we obtain: 
 
(11.01790143176059 *  2.958865402388967 * 4.931553822283411 * 
1.978491495476199)^(ln(((1/sqrt2)+(2Pi)))) 
 
Input interpretation: 

 

 

Result: 
 

73493.502093… 

Alternative representations: 

 

  

 

  

 

 

 
 
Series representations: 
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  

 

  

 

 

 

 

 
 
Integral representations: 

 

  

 

 

 
 
We have the following mathematical connections: 
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                       ቌ ቍ ⇒ 

              
 

⇒ −3927 + 2

⎝

⎜
⎛

ඪ
+

భయ

⎠

⎟
⎞

= 

 

                      
     
                     = 73490.8437525.... ⇒ 
 
(the boundary state corresponding to the NSNS-sector of N Dp-branes in the 
limit of u → ∞) 
 

⇒ ൬𝐴(𝑟) ×
1

𝐵(𝑟)
൬−

1

𝜙(𝑟)
൰ ×

1

𝑒ஃ(௥)
൰ ⇒ 

 

⇒ ቌ ቍ = 

               =   
 
               =  73491.7883254... ⇒ 
 
(the ratio concerning the general asymptotically flat solution of the equations of 
motion of the p-brane) 
 
 

⎝

⎜
⎛

⎠

⎟
⎞

/ 

 

       /(26 × 4)ଶ −24  = ቌ ቍ = 73493.30662… 
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(the  Karatsuba’s equation concerning the zeros of a special type of function 
connected with Dirichlet series) 
 
we have that: 
 
1/ (((((1+(1/11.01790143176059 * 1/ 2.958865402388967 * 1/ 4.931553822283411 
* 1/ 1.978491495476199)))))) 
 
Input interpretation: 

 
 
Result: 

 
0.9968660306875… 
 
From the sum of the above results, we obtain: 
 
(11.01790143176059 + 2.958865402388967 + 4.931553822283411 + 
1.978491495476199) 
 
Input interpretation: 

 
 
Result: 

 
20.886812... result very near to the Fibonacci number 21 
 
From the difference, we obtain: 
 
(11.01790143176059 - 2.958865402388967 - 4.931553822283411 - 
1.978491495476199) 
Input interpretation: 

 
 
Result: 

 
1.148990711... result very near to the value of the following Ramanujan mock theta 
function: 
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= 
 
=  
 
f(q) = 1.1424432422... 
 
 
furthermore, we obtain: 
 
1+1/(11.01790143176059 - 2.958865402388967 - 4.931553822283411 - 
1.978491495476199)^Pi 
 
Input interpretation: 

 

 
Result: 

 

1.64641298… ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

Alternative representations: 

 

  

 

  
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Series representations: 

 

  

 

  

 

 

 
 
Integral representations: 

 

  

 

  
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(11.01790143176059 + 2.958865402388967 + 4.931553822283411 + 
1.978491495476199)^1/6 

Input interpretation: 

 
 
Result: 

 
1.6595054899... is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

1/10^27*(((13/10^3+(11.01790143176059 + 2.958865402388967 + 
4.931553822283411 + 1.978491495476199)^1/6))) 

Input interpretation: 

 
 
Result: 

 
1.6725054899... * 10-27 result practically equal to the proton mass 

 

This … is… magic: “The number 24 appearing in Ramanujan’s function is also the 
origin of the miraculous cancellations occurring in String Theory … each of the 24 
modes in the Ramanujan function corresponds to a physical vibration of a string. 
Whenever the string executes its complex motions in space-time by splitting and 
recombining, a large number of highly complex mathematical identities must be 
satisfied. These are precisely the mathematical identities discovered by Ramanujan 
… the string vibrates in ten dimensions because it requires generalized Ramanujan 
functions in order to remain self-consitent. ~ Michio Kaku, in Hyperspace : A 
Scientific Odyssey Through Parallel Universes, Time Warps, and the Tenth 
Dimension (1995) Ch.7 Superstrings! 
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From Wikipedia: 

 

Ramanujan tau function 
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 and these four  Rogers – Ramanujan continued fraction, that link e, φ and π: 
 
 

  
 

, 

, 
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. 
  
 

Always to the genius of Ramanujan we owe the following stupendous formula: 
 
 
 

 
 
 

Neither the infinite series nor the continuous fraction can be expressed (at least as far 
as we know) through e or π, but their sum, incredibly yes! The continued fraction is 
worth: 
 
 

 . 

 

(http://www.bitman.name/math/article/102/109/) 

 

From Wikipedia: 
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Now, from: 
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for r = 1, we obtain: 

-(1-228+494+228+1)^3 / (1+11-1)^5 

Input: 

 

Exact result: 
 

 

Decimal approximation: 
 

 

-757.67263786…. result very near to the rest mass of Charged rho meson 775.11 
with minus sign 
 
Mixed fraction: 
 

 

 
Repeating decimal: 

 

Continued fraction: 
 

 

 
From: 
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For r =1, we obtain: 

-(1+522-10005-10005-522+1)^2 / (1+11-1)^5 

Input: 

 

 
Exact result: 
 

 

Decimal approximation: 
 

 

-2485.67263786….. result very near to the rest mass of charmed Xi baryon 2470.88 
with minus sign 
 
Mixed fraction: 
 

 

  
Repeating decimal: 

 

 
Continued fraction: 
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Thence: 

 

-757.672637860056752208927606782944533098211125668266573942 – 1728 =  

= -2485.67263786005675220892760678294453309821112566826657394; 

and: 

1728 =  2485.67263786005675220892760678294453309821112566826657394 - 
757.672637860056752208927606782944533098211125668266573942 

Input interpretation: 

 

 
Result: 

 

1728 = 2485.67263786 – 757.67263786 

Now, from: 

 

For r = 1 we obtain: 

-(1+12+14-12+1)^3 / (1+11-1) 

Input: 

 

Exact result: 
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Decimal approximation: 
 

 

-372.36363636….. 
 
 
From: 
 

 
 
For z = 0, we obtain: 
 
-(16)^3/11 
 

Input: 

 

 
Exact result: 
 

 

Decimal approximation: 
 

 

-372.36363636…….. 
 
Note that:  
 
-(1+12+14-12+1)^3 / (1+11-1) 

Input: 

 
 
Exact result: 
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Decimal approximation: 
 

 
-124.12121… result very near to the Higgs boson mass with minus sign. 
 
 
From: 
 

 
We obtain: 
 
-757.67263786 x = (x^2+10x+5)^3 
 
Input interpretation: 

 

 
Result: 

 

Alternate forms: 
 

 

 

Expanded form: 
 

 

 
Real solutions: 
 

 

  

 

Complex solutions: 
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From: 
 

 
 
For x = -11.3636364, we obtain: 
 
(-11.3636364)^3+(-11.3636364)^2 
 
Input interpretation: 

 

Result: 
 

  
Repeating decimal: 

 

-1338.27950236…. result very near to the rest mass of scalar meson f0(1370) with 
minus sign 
 
For x = 8.95321, we obtain: 
 
(8.95321)^3+(8.95321)^2 
 
Input interpretation: 

 
 
Result: 

 
797.8490008…..  result very near to the rest mass of Omega meson 782.65 
 
For x = 1.22861, we obtain: 
 
 
(1.22861)^3+(1.22861)^2 
 
Input interpretation: 
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Result: 

 
3.364047865863381 
 
 
For x = -0.09090909091, we obtain: 
 
(-0.09090909091)^3+(-0.09090909091)^2 
 
Input interpretation: 

 
 
Result: 

 
0.007513148009158527422990833959429 
 
 
From the two previous equation, we obtain: 
 
[-(-(1+522-10005-10005-522+1)^2 / (1+11-1)^5 + (1-228+494+228+1)^3 / (1+11-
1)^5)]^1/15 
 
Input: 

 
 
Result: 
 

 
Decimal approximation: 
 

 

1.6437518295172…. ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
From the previous solution   (-11.3636364)3+(-11.3636364)2 we obtain: 
 
(((-1/ ((((-11.3636364)^3+(-11.3636364)^2))))))^1/512 
 
Input interpretation: 
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Result: 
 

 
0.98603757111... 
 
 
From the previous solution  (-0.09090909091)3+(-0.09090909091)2 we obtain: 
 
1/(((((-0.09090909091)^3+(-0.09090909091)^2)))) 
 
Input interpretation: 
 

 
 
Result: 

 
133.0999999…… result very near to the Pion meson 134.9766 
 
 
 

 

On some equations concerning the Fermi and Yukawa theory meson 

 

From: 

 

We have the following equations: 
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131 
 

 

We have that from (20): 

 

5.3*sqrt((((4*Pi*1.054*10^(-34)*3*10^8)))) 

Input interpretation: 

 
 
Result: 

 
3.34089… * 10-12 

 

And: 

0.11*sqrt((((4*Pi*1.054*10^(-34)*3*10^8)))) 

Input interpretation: 

 
 
Result: 

 
6.93392... * 10-14 

Note that: 

(((1/ ((((3.34089 × 10^-12) *1 / (6.93392 * 10^-14)))))))^1/256 

Input interpretation: 

 
 
Result: 

 
0.98497733... 

 

From eq. (21) 

6.93392*10^(-14)+(((((5.3*sqrt((((4*Pi*1.054*10^(-34)*3*10^8))))))) 
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Input interpretation: 

 
 
Result: 

 
3.41023… * 10-12 

 

We have that: 

 
0.52*sqrt((((4*Pi*1.054*10^(-34)*3*10^8)))) 

 

Input interpretation: 

 
 
Result: 

 
3.27785… * 10-13 

 

Note that: 

1/((((3.41023 * 10^-12) *1/ (3.27785 * 10^-13))))^1/256 

Input interpretation: 

 
 
Result: 

 
0.9908926... 

Now: 

((3.27785*10^(-13)))^2 / ((((4*Pi*1.054*10^(-34)*3*10^8))))) 

Input interpretation: 

 
 
Result: 
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0.2704... 

10^3+((((((((10^2((3.27785*10^(-13)))^2 / ((((4*Pi*1.054*10^(-
34)*3*10^8)))))))))^2 

  

Input interpretation: 

 
 
Result: 

 
1731.16 

This result is very near to the mass of candidate glueball f0(1710) meson. 

 

[10^3+((((((((10^2((3.27785*10^(-13)))^2 / ((((4*Pi*1.054*10^(-
34)*3*10^8)))))))))^2))))]^1/15  

Input interpretation: 

 
 
 
Result: 

 

1.643952... ≈ ζ(2) = 
గమ

଺
= 1.6449 

 

sqrt(((((((((((3.27785*10^(-13)))^2 / ((((4*Pi*1.054*10^(-34)*3*10^8))))))))))))) 

Input interpretation: 

 
 
Result: 
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0.52 
 
1+(-ln sqrt(((((((((((3.27785*10^(-13)))^2 / ((((4*Pi*1.054*10^(-
34)*3*10^8)))))))))))))   
 
Input interpretation: 

 

 
 
Result: 

 
1.6539267... is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

1/(((((((((((((0.0047(((((((((1/(((((((((((3.27785*10^(-13)))^2 / ((((4*Pi*1.054*10^(-
34)*3*10^8)))))))))))))))))))))^1/3)))))))))))))))) 

0.0047 = 0.0052+0.0011-0.0027+0.0011 

Input interpretation: 

 
 
Result: 

 
137.585... result very near to the rest mass of Pion meson 139.57 

2*1/(((((((((((((0.52+0.27)(((((((((1/(((((((((((3.27785*10^(-
13)))^2 / ((((4*Pi*1.054*10^(-34)*3*10^8)))))))))))))))))))))^1/3))))))))))))))) 

Input interpretation: 

 
 
Result: 
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1.63709.... ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 

1/3.16* 0.52*1/(((((((((((((0.79(((((((((1/(((((((((((3.27785*10^(-
13)))^2 / ((((4*Pi*1.054*10^(-34)*3*10^8)))))))))))))))))))))^1/3)))))))))))))))) 

Input interpretation: 

 
 
Result: 

 
0.134697... 

10^3 1/3.16*0.52*1/((((((((((((((0.52+0.27)(((((((((1/(((((((((((3.27785*10^(-
13)))^2 / ((((4*Pi*1.054*10^(-34)*3*10^8)))))))))))))))))))))^1/3))))))))))))))) 

Input interpretation: 

 
 
Result: 

 
Or: 

Input interpretation: 

 
 
Result: 

 
134.600 and 134.697... very near to the rest mass of Pion meson 134.9766 

 

In conclusion: 

1/((((1/10*0.27^2)))) 



136 
 

Input: 

 
 
Result: 

 
137.1742… very near to the reciprocal of fine-structure constant 
 
 
Now, we have that: 

64* ln ((((((0.27+0.52)/sqrt((4*Pi*1.054571*10^(-34)*3*10^8))))))) 

Input interpretation: 

 

 
 
Result: 

 
1782.819… result in the range of the hypothetical mass of Gluino (gluino = 1785.16 
GeV). 

Integrate [64* ln sqrt((((((0.27+0.52)/(4*Pi*1.054571*10^(-34)*3*10^8)))))))]x 

Indefinite integral: 

 

 
 
Plot of the integral: 

 
  

Alternate form assuming x is real: 
 



137 
 

 
For x2 = 1.080949745  
 
895.18 * 1.08094974^5 
 
Input interpretation: 

 
 
Result: 

 
1321.1066… result very near to the rest mass of Xi-baryon 1321.71 
 
 
Now, from: 
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We have that 0.236+0.218+0.202 = 0.656 
 
And: 
 
((((((0.236+0.218+0.202)/sqrt((4*Pi*1.054571*10^(-34)*3*10^8))))))) 
 
Input interpretation: 

 
 
Result: 

 
1.04040... * 1012 
 
64*ln((((((0.202+0.236+0.218)/sqrt((4*Pi*1.054571*10^(-34)*3*10^8))))))) 
 
Input interpretation: 

 

 
 
Result: 

 
1770.920... result in the range of the mass of candidate “glueball” f0(1710) and the 
hypothetical mass of Gluino (“glueball” =1760 ± 15 MeV; gluino = 1785.16 GeV). 

 

64*ln((((((0.0136+0.0147+0.370)/sqrt((4*Pi*1.054571*10^(-34)*3*10^8))))))) 

Input interpretation: 

 

 
 
Result: 

 
1738.987... result in the range of the mass of candidate “glueball” f0(1710) 
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((((((((((64*ln((((((0.0136+0.0147+0.370)/sqrt((4*Pi*1.054571*10^(-
34)*3*10^8))))))))))))))))^1/15 

Input interpretation: 

 

 
 
Result: 

 

1.64444652... ≈ ζ(2) = 
గమ

଺
= 1.6449 

1.0061571663((((((((((64*ln((((((0.0136+0.0147+0.370)/sqrt((4*Pi*1.054571*10^(-
34)*3*10^8))))))))))))))))^1/15 

Input interpretation: 

 

 
 
Result: 

 
1.654571... is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

0.202+0.236+0.218+0.0136+0.0147+0.370 

  (0.202+0.236+0.218+0.0136+0.0147+0.370)^9 

Input: 
 

 
Result: 

 
1.6094513... result that is a golden number, very near to the electric charge of 
positron. 

And: 
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1/6((((((((exp  (0.202+0.236+0.218+0.0136+0.0147+0.370)))))^1/2 + ((((exp  (0.202
+0.236+0.218+0.0136+0.0147+0.370)))))^1/3))))))^2 

Input: 

 
 
Result: 

 
1.617412.....  
 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

From: 

On the Interaction of Elementary Particles 
H. Yukawa 
(Received 1935) 

 

We have that: 

(((4*Pi*(2*10^-9)(4*10^-17)))) / (4*10^-50) 
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Input interpretation: 

 
 
Result: 

 
Decimal approximation: 

 
2.51327… * 1025 

 
Property: 

 
 

sqrt(((((((4*Pi*(2*10^-9)(4*10^-17)))) / (4*10^-50))))) 

Input interpretation: 

 
 
Result: 

 
Decimal approximation: 

 
5.013256… * 1012 
Property: 

 
 

sqrt(21) ln ((((((sqrt[(((4*Pi*(2*10^-9)(4*10^-17)))) / (4*10^-50)]))))) 

Input interpretation: 

 

 
 
Result: 

 
Decimal approximation: 
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134.00875… result very near to the rest mass of Pion meson 134.9766 
 
-13+13 * sqrt(21) ln ((((((sqrt[(((4*Pi*(2*10^-9)(4*10^-17)))) / (4*10^-50)]))))) 
Input interpretation: 

 

 
 
Result: 

 
Decimal approximation: 

 
1729.11375... result in the range of the mass of candidate “glueball” f0(1710) 
 
((((((((((-13+13 * sqrt(21) ln ((((((sqrt[(((4*Pi*(2*10^-9)(4*10^-17)))) / (4*10^-
50)]))))))))))))))^1/15 
Input interpretation: 

 

 
 
Result: 

 
Decimal approximation: 

 

1.643822… ≈ ζ(2) = 
గమ

଺
= 1.6449 

34+5+13 * sqrt(21) ln ((((((sqrt[(((4*Pi*(2*10^-9)(4*10^-17)))) / (4*10^-50)]))))) 
 
Input interpretation: 

 

 
 
Result: 
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Decimal approximation: 

 
1781.1137…. result in the range of the hypothetical mass of Gluino (gluino = 
1785.16 GeV). 

 

From paper II 

 

 

 From the eqs. (9), (20) and (21) of Fermi’s paper, we obtain: 
 

2.46*10^10/(((((((0.52+0.11)))/5.3)))*10^3)))) 
 
Input interpretation: 
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Result: 

 
2.0695238… * 108 
 
We obtain, from (24): 
 
2.0695238*10^8 /((((((2*10^-9)^2/(((1.054571817*10^-34)*(3*10^8)))))))) 
 
Where g = 2 * 10-9 (see paper 1 Yukawa) 
 
Input interpretation: 

 
 
Result: 

 
1.6368461…. a result that is a good approximation, i.e. very near to the value 1.62 
 
Thence, from (24), we obtain: 
 
((((((2*10^-9)^2/((((1.054571817*10^-34)(3*10^8)))*1.6368461 
 
 
Input interpretation: 

 
 
Result: 

 
7.7242216547… * 107 ≈ 77242216.5 
 
We have that: 
 
sqrt(((2.0695238 * 10^8) / (7.7242216547 * 10^7))) 
 
Input interpretation: 

 
 
Result: 
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1.6368461... ≈ ζ(2) = 
గమ

଺
= 1.644934 … 

 
And: 
 
1/(((2.0695238 * 10^8) / (7.7242216547 * 10^7)))^1/64 
 
Input interpretation: 

 
 
Result: 

 
0.9847188573... 
 
And: 
 
24*4 ln (((((((((((2*10^-9)^2/((((1.054571817*10^-34)(3*10^8)))*1.6368461)))))))) 
 
Input interpretation: 

 

 
 
Result: 

 
1743.595… result in the range of the mass of candidate “glueball” f0(1710) 
 
((((((((24*4 ln (((((((((((2*10^-9)^2/((((1.054571817*10^-
34)(3*10^8)))*1.6368461)))))))))))))^1/15 
 
Input interpretation: 

 

 
 
Result: 
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1.64473... ≈ ζ(2) = 
గమ

଺
= 1.6449 

 
 
1.0061571663^4 * 24*4 ln (((((((((((2*10^-9)^2/((((1.054571817*10^-
34)(3*10^8)))*1.6368461)))))))) 

Input interpretation: 

 

 
 
Result: 

 
1786.936... result in the range of the hypothetical mass of Gluino (gluino = 1785.16 
GeV). 

From the result of formula, we also obtain: 

((((integrate (7.7242216547 × 10^7)x, [0, 1/(54Pi)]))))-21 

Input interpretation: 

 
 
Result: 

 
1320.953... result very near to the rest mass of Xi baryon 1321.71 

e+1/10((((((((integrate (7.7242216547 × 10^7)x, [0, 1/(54Pi)]))))-21))))  

Input interpretation: 

 
 
Result: 

 
134.813... result very near to the rest mass of Pion meson 134.9766 

(-21^2-144-21-8) + ((((((((integrate (7.7242216547 × 10^7)x, [0, 1/(54Pi)])))) 

Input interpretation: 
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Result: 

 
727.953...  

result practically equal to the famous Ramanujan cube formula 93 – 13 = 728  

Note that, we have also: 

(-21^2-89-21-8) + ((((((((integrate (7.7242216547 × 10^7)x, [0, 1/(54Pi)])))) 

Input interpretation: 

 
 
Result: 

 
 782.953... result very near to the rest mass of Omega meson 782.65 

From (24) for the value 0.76, we obtain: 

((((((2*10^-9)^2/((((1.054571817*10^-34)(3*10^8)))*0.76))))) 

Input interpretation: 

 
 
Result: 

 
1.6636… * 108 
 

Note that: 

1/(((1.6636 * 10^8) / (7.7242216547 * 10^7)))^1/64 

Input interpretation: 

 
 
Result: 

 
0.9880839... 
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And: 

integrate (1.66360027513638808133859504128231477454170005086745144 × 10^8
)x, [0, 1/(248Pi)] 

Definite integral: 

 
137.03, very near to the inverse of fine-structure constant 137.0359… 

 
Visual representation of the integral: 

 
 

 

From paper III Yukawa, we have that: 

 
 
We obtain: 
 

  ((2*(4*10^-17)^2+(4*10^-17)^2))/((6*1.054571*10^-
34*3*10^8))*(((100*(3*10^8)^2))/((1.054571*10^-34) 
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Input interpretation: 
 

 
 

 
Result: 

 
2.15804051… * 1045 
 
We have also: 
 
17 ln (((((((2*(4*10^-17)^2+(4*10^-17)^2))/((6*1.054571*10^-
34*3*10^8))*(((100*(3*10^8)^2))/((1.054571*10^-34)))))) 
 
Input interpretation: 

 

 
 
Result: 

 
1774.55401… result in the range of the mass of candidate “glueball” f0(1710) and the 
hypothetical mass of Gluino (“glueball” =1760 ± 15 MeV; gluino = 1785.16 GeV). 

 

We note that: 
 
((((((((((17 ln (((((((2*(4*10^-17)^2+(4*10^-17)^2))/((6*1.054571*10^-
34*3*10^8))*(((100*(3*10^8)^2))/((1.054571*10^-34))))))))))))))))^1/15  
 
Input interpretation: 
 

 

 
 
Result: 

 

1.646667... ≈ ζ(2) = 
గమ

଺
= 1.6449 
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And: 

2sqrt[6*((((((((((17 ln (((((((2*(4*10^-17)^2+(4*10^-17)^2))/((6*1.054571*10^-
34*3*10^8))*(((100*(3*10^8)^2))/((1.054571*10^-34))))))))))))))))^1/15] 

Input interpretation: 

 

 
 
Result: 

 
6.286495296... ≈ 2ℼ 

We have also that: 

27+[10^3*((((((((((17 ln (((((((2*(4*10^-17)^2+(4*10^-17)^2))/((6*1.054571*10^-
34*3*10^8))*(((100*(3*10^8)^2))/((1.054571*10^-34))))))))))))))))^1/15] 

Input interpretation: 

 

 
 
Result: 

 
1673.667... result very near to the rest mass of Omega baryon 1672.45  
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